t21 _xboolean

(TML1sWD6cn7je TTnyCPPXGs50HQTudMTe)

October 27, 2020

Let vl_zboolean : t=>0 be given. Let k4_zboolean : 1=1=>1 be given. Let
k3_xboolean : 1=t be given. Let k7_zboolean : 1=>1=>1 be given. Let k6_xboolean :
t=-1=1 be given. Let k5_zboolean : t=-1=>1 be given. Let k11_zxboolean : .=1=1

be given. Assume the following.

VX0.(vl-xboolean X0)=(VX1.(vl_zboolean X1)=(kd_zboolean
X0 (k7_xboolean X0 X1) = kd_zboolean X0 X1))

Assume the following.
VXO0.(vl-xboolean X0)=(k3_xboolean (k3_xboolean X0) = X0)
Assume the following.
VX0.(vl_zboolean X0)=-(vl_zboolean (k3_zboolean X0))

Assume the following.

VX0.(vlxboolean X0)=(VX1.(vl_zboolean X1)=(k7_zboolean
X0 X1 = kd_zboolean (k6_zboolean X0 X1) (k6_rboolean X1 X0)))

Assume the following.

VX0.(vl_zboolean X0)=(VX1.(vl_zboolean X1)=(k6_zboolean
X0 X1 = k5_zboolean (k3_zboolean X0) X1))

Assume the following.

VX0.(vl_zboolean X0)=(VX1.(vl_zboolean X1)=(k1ll_xzboolean
X0 X1 = kd_zboolean X0 (k3_xboolean X1)))

Assume the following.

VX0.YX1.((vl-zboolean X0)A(vl_zboolean X1))=(
k7_zboolean X0 X1 = kT7_xboolean X1 X0)

(1)



Assume the following.

VX0.VX1.((vl_zboolean X0)A(vl_zboolean X1))=( (8)
k5_zboolean X0 X1 = k5_xboolean X1 X0)

Assume the following.

VX0.VX1.((vl_zboolean X0)A(vl_zboolean X1))=( )
k4_zboolean X0 X1 = kd_zboolean X1 X0)

Theorem 1

VXO0.(vl_zboolean X0)=(VX1.(vl_xboolean X1)=-(k4_-xboolean
(k3_rboolean X0) (k7_xboolean X0 X1) = kd_xboolean (k3_zboolean
X0) (k3-zboolean X1)))



